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Calculations
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Calculations - plot
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Sieve Slit Run (1300), R arm, qg-kin
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Note: starred-points are from calculation using Equation (1)
Cuts: Single track and E_ = 8 MeV



Sieve Slit Run (2801), L arm, gg-kin
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Note: starred-points are from calculation using Equation (1)

Cuts: Single track and E_ = 8 MeV



Not Sieve Slit Run (2086) , qg-Kin
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Note: starred-points are from calculation using Equation (1)

Cuts: Single track and E,, = 8 MeV



!'_ Missing Energy (£,,)



Sieve Slit Run (1300), R arm
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Sieve Slit Run (2801), L arm

HK_r.emiss {HK_r.emiss<0.2&&HK_r.emiss>-0.02}
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Not Sieve Slit Run (2086)

HK_r.emiss {abs(HK_r.emiss)<0.05}
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!'_ ¢tg VS Htg



ESP L arm # 1300

Spec | th_tg:Spec | ph_tg {abs{Spec_| th _tg)<0.08 && abs(Spec_| ph_tg)<0.04}
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ESP R arm #1300

Spec_r_th_tg:Spec_r_ph_tg {abs(Spec_r_th_tg)<0.15 && abs(Spec_r_ph_tg)<0.09}
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ANAL L arm #1300

L.tr.tg_th:L.tr.tg_ph {abs(L.tr.tg_th)<0.15 && abs(L.tr.tg_ph)<0.07}
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ANAL R arm #1300

R.tr.tg_th:R.tr.tg_ph {abs(R.tr.tg_th)<0.15 && abs(R.tr.tg_ph)<0.08}
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ESP L arm #2801

Spec | th tg:Spec | ph_tg {abs({Spec_| th_tg)<0.06 && abs{Spec_| ph_tg)<0.04}
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ESP R arm #2801

Spec_r_th tg:Spec_r _ph_tg {abs(Spec_r_th_tg)<0.06 && abs(Spec_r_ph_tg)<0.04}
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ANAL L arm #2801

L.tr.tg_th:L.tr.tg_ph {abs(L.tr.tg_th)<0.08 && abs(L.tr.tg_ph)<0.04}
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ANAL R arm #2801

R.tr.tg_th:R.tr.tg_ph {abs(R.tr.tg_th)<0.08 && abs(R.tr.tg_ph)<0.06}
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!L Analyzer vs Espace



Analyzer — Espace (Run # 1300
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Before code changed in Espace



Analyzer — Espace (Run # 1300

t fg th_I tg_ph_I ph_l
Emtries 1153 g_p — Entrisc EBEB
- Maan T.AZ%s.08 - Maan 1.0818-08
350 - AN D.00aEE0R - RME 0001148
o so0
X | -
= s00 [~
250 C
o aon -
200 C
- a0
150 E
100 W00
soF_ 100 -
ﬂ: 1 11 1 IIIIIII 'I—" ”I_IJ_J!I_I |]-I_IILI_I_I_|_I_||—IﬂI IIIIIII "'Ildl_l.n.l_l
-0.001  -0.0005 [ 0.0005 0.001 0.0015 0.002 -0.001 -0.00050.0006-0.0004-0.0002 -0 0.0002 0.0004 0.0008 0.0008 0.001
fg_th_r T
tg_th_r chtries tg_ph r nirise
— Maan -4.EEGS-DE = Msan -4.371s.08
— ANE 00003481 500 - RME 2000 tEE
30 E
anaf_ C
= a0
250 C
= 300 -
200 C
150 0
100 L
- 100 [
s C
ﬂ;_.._p-uul_.n cl o a e aaly (EEPERSY QTrET, |]_||||a.|.a.|a_|. o e el JEPRET 1 PR A N
0002 -0.0015 -0.0010 -0.0005 0 0.0005 0001 0.0015  0.002 -0.001 -0.00050.0006-0.0004-0.0002 -0 0.0002 0.0004 0.0005 0.0008 0.001

After code changed in Espace (Header’s file :

“Reconstruct”)




Analyzer — Espace (Run # 2801)
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Before code changed in Espace



Analyzer — Espace (Run # 2801)
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After code changed in Espace (Header's file :

“Reconstruct”): Under Investigation!



!'_ Additional ltems

Using Run # 2086



Scattered Energy of Electron
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Cuts: Single track and E,, = 8 MeV



Proton Momentum
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Cuts: Single track and E,, = 8 MeV



0,,and @, (Right Arm)
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Cuts: Single track and E,, = 8 MeV



6, and ¢tg (Left Arm)
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Cuts: Single track and E,, = 8 MeV
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